%gg = trois fractions, décimales, ordre des opérations avec
h— it = parenthéses
Nom Date: Note:
(14+2)+4 = 3(46—l)=
’ 6
(4+35)><1— (5—52)><3—
b 3 N 2
59 _ _
(Z-2)+5= 4-3,1)x3,7
2
42,6 —4)= (4_%)+ _
3
O=3)+6= 5-|—1 xl:
(5+3)%3
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J?gg% i § trois fractions, décimales, ordre des opérations avec
h— it parenthéses
Nom Date: Note:
(14+2)+4=4 3(46__) 133
10
1 5
4+3,5)%x == — 5-5,2)x == (——
(@+3,5)% 3 =2 (5-52)% 3= (o)
11 333
— —2 4—-3,1 = —
( )5 = 2 (4=3,1)x3,7= 100
28 2 5
42,6 —4)= (—— 4—-)+2=—
@.6-4= () (4-3)+2=1
9-3)+6=1 s+ Ly o4
( 3) 4 3
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